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| HW Day 04 Quadratics: Where are we now?

Maskr

‘hat are the methods for solving a Quadratic equation?... and WHEN should you use/apply edch method?

Methods for Solving | WHEN to use it; What to look for... Example: ]
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Solve each equation by the BEST method Write any irrational solutions in simplified rad:cal form.
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7. 12x*-11x-5=0
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5. x2+12x+35=0
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'Fmd the zeros of each quadratic function.

10. y=x2-7x+ 12

(x—4X ~-2)=0

11. y=x>+5x-24

(X +8)(2) =O
(50K 0D

3. (x+2/3)>=16/9
Z-+4
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13. y=2x?-8x+6 14. y=4x2+2x-2 2.4 15. y =5x* + 19x + 12
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Write a qua,dratlc function tn general form thatsati "T'es the gwen conditions. 1 0Pk (b -21 o Need. <d 7‘
a =-1; The graph’s x-intercepts are -4 & -2. =
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19. The graph’s x-intercepts are 8 & -3;

16. a = 1; The graph’s x- mtercepts are 6 & 9.

18. a = 2; The graph’s x-intercepts are -7 & 5

The y-intercept is-12.
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20. The graph’s x-intercepts are 0 & 13; 21. The graph's x-intercepts are 4.3; ,
The graph contains point (2, 22) The y-intercept is -5. 76
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Convert each quadratlc in general form, y = ax? + bx + ¢, to vertex orm, y = a(x - h)Z + k by completing the square.

Then state the vertex of each. You can still use the “cheat” if you want to!

23. y=5x>-30x— 3- 24. y=2x*+12x+9
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} 25. Nora hit a softball stralght up at a speed of 180 ft/s and her bat hit the ball at a he|g (4] ove the groun
Answer the following questions using the projectile motion equation in your notes.
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la. What is the equation that models the height of the ball? h(,y,):: - \bx + + L\—
window (510520, 1,-30, €00, 1,1]

What is the ball’s maxmum height and when does it reach that height? 6 \0. 7/5 ? Y ot 5 (DQ

(5.62,50025)

How long does it take for the ball to hit the ground? | l . rg:‘) SLoM d {

(11.21, 0)

22. y=x2—8x+20




